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PRINCIPLES OF ECONOMICS HSSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i) Who described ecenomics as a science of Material welfare?

A Keynes B. Ricardo C. Marshall D. Robbins
(i) Utility and usefulness are:

A Equatl B. Different C. Similar D. Unrelated
iii) Diminishing Marginal utility is the basis of:

A Law of supply B. Law of demand C. Laws of return D. None of these
{iv) If demand is unitary elastic a 25% increase in price will result in:

A 25% change in total revenue B. No change in quantity demanded

C. 1% decrease in quantity demanded D. 25% decrease in quantity demanded
{v) When supply of a commodity increases without change in price, it is called:

A Fall of supply B. Expansion in supply

. C. Cantraction in supply D. Rise of supply

(vi) In market equilibrium if supply is vertical line and downward sloping demand curve shifts to the right, ther

A Price will fall B. Price will remain the same

C. Price will rise D. Quantity will rise
(vii) WAPDA is a:

A Public corporation B. Public company

C. Private company D. Partnership
(vili) When Marginal Product (MP) is zero, Total Product (TP) is:

A Minimum B. Maximum C. Rising D. Falling
(ix) The necessary condition for firm'’s equilibrium is:

A MC > MR B. MC > Price C. MC=MR D. MC=AC
{x) Under perfect competition always:

A ATC = AVC B. AR =AC C. AR =MC D. AR = MR
{xi) Direct taxes are not included in:

A NNP B. Pl C. DPI D. BothAand C
(xii) If no money is used to exchange the goods, it is called:

A Barter B. Currency C. Black market D. Free trade
(xii)  Which one is the equation of exchange?

A PT=MV B. PV =MT C. PM=TV D. None of these
(xiv) A business cycle has phases.

A Four B. Three C. Two D. One
(xv) The rate of usher on barani (non irrigated) land is:

A 20% B. 10% C. 5% D. 2.5%
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PRINCIPLES OF ECONOMICS HSSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use suppiementary answer sheet i.e. Sheet-B if required. Write your
answers neatly and legibly.

SECTION — B (Marks 36)

Q.2  Answer any NINE parts. The answer to each part should not exceed 5 to 6 lines. (9x4=36)
(i) Write down four points of Robbins's definition of economics.
(i) Define “Law of equi — marginal utility”.

(iii) Differentiate between fall and contraction of supply.

{iv) Define “Labour”.

(v) Define the “Law of decreasing returns".
(vi) Reproduce the foliowing table on your answer sheet and complete it:
Quantity TFC TVC TC MC
0 10 - 10 -
1 25
2 35
3 40 5

(vii) Define "marginal productivity theory" of factor pricing.
(vii)  Define "GNP" (Gross National Producf).

(ix) Write down any four instruments of credit money.

(x) Write down any four functions of money.

(xi) Wrrite down the phases of trade cycles.

(xii) What is the difference between domestic and international trade?

SECTION - C (Marks 24)

Note: Attempt any TWO questions. All questions carry equal marks. (2x12=24)

Q.3  Whatis market equilibrium? Explain the equilibrium of demand and supply by drawing a schedule and a
diagram.

Q.4 How are price and out-put determined under perfect competition in the short run?

Q.5 Define tax. Write down the canons (Principles) of taxation.
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